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3{UfSTasIer 10 3T

T 01 TR ST Ufdedl W SR | (TR &l W@WU%E%W?@@

Read the paragraph carefully and answer the questions.)

(3) THUCH IR (Hdd UgaH) 1X2=2
(i) & @l STceh: BRI BRI ? BRI
(ii) STeT fob ] FeTa Sydq ? IRR
(iii) 8T Sfg: T 31T 2 QT Rren

@) QOTaTRA ITRA| (had UYgaH) 2X2=4

(i) SFT: fob T Srmy 2
BTRH - T HHYG- " 3T: RN SUHRUM SREHTH, 3fcl: JAT TRSH 7 I |
(ii) T: XY G0 G SaR T e 2
SR - XA Y G: SR S O 9 o e e g o Ta S|
(iii) Ueh: STcich: h¥ Hard: SN ?
ITRH - Ueh: JCIh: SHT Hah: S|
() MBS | (HTST Teieh i 1) (Shad UH) 1X3=3
(i) "3 3fet fobaToe sque e 2
(@) AP
(ii) 'Hw%%gqu fob fauRiquey s w2

(TI') :
(i) : fa=mma Rra srogd) s fdame fad 2
(¥) ST
(iv) T8 3fd Uew fdh gafgueH il vgeaH 2
@ R
(C) 3 TRy 3ferd 2vds forad |
FTRH - SHRY: S[eieh: 1X1=1
U8
ITHD B (15 3fPTHD:)

U 02 TSN YA eI feiedl U5 [T SR gl g: forad - 15X10 =5

FoferiRad o= o1 do O 3ferd Wea &1 FdR g Hifol SR S0t IRy fad! # : ford
Complete the following letter by choosing the appropriate word from the box and rewrite it in your
answer book.

(i) ST
PIIH
ﬁ_v-ﬂg: _________
3{TERUNG: (i) foarsh
T (i) FH H:
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3 B (iv) TR | 3 HH AINBURIET: (v) GROTH: ST | 31T ULIETaTH 38 (vi)
TYH R UTaH | THRRYS JH (vii) 7EH S1fU UhIRiaH | 7 9Umr=m: 9rdH1 SHmEi 98 (viii)
wuiued Gl M Haar | 38 T (ix) TEH ST | SU8: TRU] g HHES: 9 9e: |

Yadi g g
(x) UdTG:

T4 03 SIorad 3fd favguided Teoudi YeduaHi Jgriddl T Udh 3fjwid fead-  1X5=5
SITaE (GRIERT) v TR Siay H QU U Xsai BT YN Hrd gu Wdd H U 3fTwse [
Write a paragraph in Sanskrit on the topic ‘Deepawali’ using the words given in the box:

TSNl IR
dloradll, T8 Ud: ddd, S - IR, S | 3 -
PIRSINRES AUTHIRA S, WhlehI e YA ST WHATHA IS
Thieaf, sEedRe: SR WA, AEGHYS , | FTRRET Widda |
Wrﬂ S & &, %Tcﬂ&ra‘rwwm@—d
, THTHTT 3144, Wﬂ@ﬂﬁﬁ,w,

3{Yd
TSRRGAATRY HoNUGHERIa 3Hef: &1 fosfaul Hod|

(U1 T ITeRIl T Too[T & Ysal &l Fgridl ¥ AT 16U o3 7 quH it

Describe the following picture in five Sanskrit sentences with the help of words given in the box.)

HooI
Tad o, il gesi-, faeierrey i graxy 31, 39 fol, rferenr:, forsl, ST Iufsiw,
YU URA(d, SRENRI&®:, & Ti,

I -
eI YA SR WHHAT YT dre=aHT Widhd o |

U9 04 3{ef: ThT BT FTRaaT Sy | =l o1 vt Redi= wf=i | Fesmi gl yal Sgran |

1+ R Hi G: STRYRKDBT ferad | 15X10 =5
1R T B A TE 21 I B Ue Rad § | Hool & Ua) ! Gerdl A 3¢ qUf b HEH! b
T: STR-YKiohl | fefau|

An inspiring memory is given below. Some blanks are there. Complete those blanks and re-
write the memory in answer sheet. Words are given in the box for help.)

Teh R TR Ueb: (1) U: 31| T e (2) §89: UL -3MTE| Y U Ueb :(3) TFR:
IO fU3: 3{4ad | Thal -U: (4) Yi: S| Tl F: IFR: Ao+ 0 (5) 3fareiad | e ohie Ul
(6) TIEIT TU ARYBIAM IUTARI | T BRUNG F: TFR: (7) D AU | i Hi&DHI g T: (8)
G YR DRI | HidhT J (9) S TIH ST T USRUT U™ (10) RIehT fesell 3uaq|
3yl
eIy Har HeoMmequS easgrad YRR@ g: ferad|
(afRed Yare & Ty H AT 7Y Ufekadl & Serd ¥ @R b I iRy |

Complete the following dialogue with the help of sentences given in the box and re-write the same.)
3 - I o0 9 g fobey o 2

gferc: - (1) T BR F: 1|

3{ra: - fdh aH Ueh: IRATAD: UgeR: 3R

g - (2) 8, Afe, 318 egeR: T HI: 1 38 BF: Wl

3{ra: - dfe fdh O SRdcHH g TR ?

ora: - (3) 9 i 1 Star g et = 3| 3ra: sRaan 9 =iy |
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SFPY: - dfe, 4 Wipd $= T 2

gfd: - (4) 318 YfdRI: SN BRI i Ha ST T HH UfaafaT 3 |
3HfHd: - JTH 03 1, UiqaiRTar shal 31 2

gHc: - (5) ISt AR el AR 3|

31fEre: - 3R, HATT 3R BRI 318 T8 T |

ioe: - 31, ¥: faernerg faam: |

S - 3, GAHaA: |
U T
S{IVRIcR] SHTHRUM (25 febTdeh:)
T8 05 TISSIIT TIaR): S1e): Teriad aTadT ey qRad — (9% Iq5am) 1X4=4

HooT H U 11U Sieqd! &) JeTdT § ard! o Rad R &1 g difo|
Fill in the blanks with the help of indeclinable given in the box.)

(1) 3 HH [T 3aehrar: R |

(2) TRT R Her: Ja0T: I |

(3) BF: eI LT DRI |

(4) 38 Y¥HaH Ud 3T |

(5) Tohal RToll GERY: GG 3R |

TY 06 RIS 'YDIAUTY: * U TN Yt IR o SRYRID AT fered |(TY TP 1X4=4
(R[S UGI & YPId-UTd el d Tgard e fddhed] ¥ Y SR ! AR STR-GfkTert § feriau )
(Separate or join suffixes in the bold words and write answer appropriate from the options given
below in the answer sheet.)

(1) BF: TS (TS + HQ ) mmmmmeee o BRI | (9) Tfdd

(2) STeIh: THICh (DMGIH) - TR T 1(P) e + T
OREEELRIG ) p— + e HRIRDY: IROMG: | (F) T + o + Y

(4) ITH: BF: UIS (UG + A ) - | () Uiddar]
O EIERERINEISR U o) J—— IO () T
Y 07 AU 3y FERITERH IFRHdH IR i forad — erigeam) 1X4=4

e P YR W A o STHR IAd IR IR [ARIT (@R TH)

Choose the appropriate answer and write as per the instructions

O E 2] — qraafd | (Urg —fgdan, Thaem) (9) ureyq
(2) 3 AT SIEAD: ------ TG ATAAIY HAd | (3RAG —qa T, UhddH) () JaT

) J— HE&IOT: Fiwel | (AT — G, ThdoTH) (%) M1t
OV RS — YT g | (T - T, dgaaH) (@) TSI
[ — RaeH Ui | (@ - UYHT, dgad) (%) TAPRT:

T 08 YTRTTTIR fadhedi:3TR fefdl are= g SRyRaddl g: forad — (% F99) 1X3=3
foemed o T ¢Tg Y & STIR IR AR RaaRIM R 3R IR gt J I: ford -
Fill in the blanks by choosing the answer according to the metal form from the options and rewrite in
the answer sheet -

(1) St & TSRl TR R TR faeierd: Gol R ---m-- @A (P) R

2) & YA --oreev (T3 Q)| (&) Thy
(3) THR: YYHUTE PHRRIOT oo (ferg e | (@) feraq
(4) T YIS (U ) | (%) afersafa
(5) BF: TAH - (A T (@) S
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TY 09 SfeiRIAY Uy Iferd e feredl Red®iHIi+ TR a1 g 1] - (I H)
(T ford Uel § O 3fad Ue gra Rad RIFl &1 gfd d-db aidd g DI 1)

(Fill'in the blanks of the following sentences with the correct words.)

() IS p— TR (@) arfeat
o) — o ferafd| (@®) HR:
(ORI |1 p— | (@) TS
OIS IR 76 UaH=T | (1) T
O R I — g YHUf BRI | @) B

T 10 SAIRIAY Ty g o IHY Wpalec: ITRYRAGH ferad- (T4 FTH)
afciRad arel O 3ol H faU U 99T &1 T¥hd sl { foiRkau
In the following sentences, write the time given in numbers in Sanskrit words,
(1) I (6:00) N dTe- SRS |
(2) UITcT: (8:45) UTGIH adTe- faeed T=aid |
(3) TG (3:00) AT TeH ST |
(4) IET (11:15) JUIg UhIe@Ie- Ufddl Wi |

T 11 SARIAY ATy g o S Ifd Ipaud [ ferad- (I3Egya)
iRy arel § sidl & 715 T o forg Ifd Tpaue g [Rau

1X3=3

1X3=3

1X4=4

Choose the appropriate Sanskrit word and write it for the number given in digits in the following

sentences.
O EINCZE ) P— J1&: Uafd| () TIG:
@) 78f: ST (18) --memmemv TRV 3R | () 3P
L EIHIRSIRUNE]) — IESIERICIEST (@) Barq
(4) T BETTT (29) --mmmmem SET: | (@) afdrfa:
O ACARC) p— SIES] (@) IAR:
U8 g
Gfdraraie =Ty (30 Sfhidh:)

Ty 12 SfefifoiRad T ufd e MR aR Uy StRd-
il U T eI Bl U SR FERIER Usil & IR &
Read the passage below and answer the questions as directed

(1) UhUcH ITRA- (TP Tsd H IR G| (Bddt UHgaH)

(i) PIHE TR B STRIUGT: 3 2 IR
(ii) UHaT d B TTda=: ? PEER]
(iii) ST 3R 2 e

(2) TUIGTRA JTRA-(UIaTa H IR alfol| (gaH)
(i) TY T: T 3 2
JTRH - AY F: FfGoiHT: U el YU S|
(i) S T: gdlfs foh e Srehua 2
JTRH - AN T: G GHBYTI-3MBN 3T T @ d Qe o ¥ |
(iii) o AT foh a2
I - o AN T FRIargueH 3ufawy IR HdTg doa: |
3) FERTTIRH 3TRa- (GId UHETH)
(i) Thal d JdaRi Ufd TTda-a: | 3 ared 3feqaug fohd 2 (®) Uhal
(i) * TR STETUTGAT: B UTaA 3{ae{| ' 3fd I fohaTue fbq 2 (9) 3{ae
(i) e 3 ue feiHue e fobe Trger 2 (M FfSAM

YoX2=1

1X2=2

1X2=2
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U9 13 NI T e FERTuR Uy Rd-
I 3T T veriE & ug SR FEIER usli & SR &
Read the Phrases below and answer the questions as directed
(1) UhUcH ITRd- (hdd THgIH)

ORECISUERIEURE: T

(ii) SIS &1 9 Urwift 2 faem

(iii) forar fob garfa 2 ICREE]
(2) TOIaTRA ITRA-  (Pad UHGaH)

(i) Ta=raTe g S 2

ITRY - a1 U S |
(ii) TP g q yafd 2
JTRH — S g = Hafd |
(i) SHTAT &= = UTeifer 2
JTRH — AT 4= UTHifdT |
3) AR 3TRa- (Pad THETH)
(i) "3 B Tz | Sfd a1’ 3{eggue foe 2 () Fa:
(i) "TomTTaITc AT SmTfd | 3fd I fehamue b 2 () i
(iii) ‘S 2fd Ue fadmud TRl foor Uged 2 @) fty

T 14 Sfeffoyd Areaie ufdar FeRmgaR Uy 3TRa-
R fou T TR BT U SR SRR s & SR S

Read the Drama below and answer the questions as directed

(1) THUC IR (Pad THETR)
(i) TG S R fob wafet 2 PEIERU
(i) STT: T = 2 PERHEEFEEE)
(iii) R PP Yada & Jad R BECAREEIYI
(2) UhaTRI IR CENEERRE)
(i) T TRUMRH 31fU =15 Siiafd 2

JTRH - 31| fhferd obref g Siafd|
(ii) R cTenT: o1 =) IR} gpaif 2
JRH - FAfdreenT: S0 A 9 331 R0 Gl |
(iii) YFTGTH-3F~R RN PHal I adHHI0 Hafd 2
STRH - TG-S TR ATH I+ a0l Hafd
(3) FCRIMERY 3TRd CEREEERE)
() g 3 U fadmue T for uged 2 () TRUH

(ii) Rfr!: T Tai=T 1" 3fd aT’ dque fh 2 @) Rfera:

(i) = 31 U waigaiue TR P WE 2 (9) 43

T3 15 NI IRy ifhd UaH 3y Uit Bod -
I T T a1 & Xaifdrd UG o STYR WR Y HHf0 $ifg
Construct a question based on the underlined term in the sentences below
(1) I - [ TRIgH gwsTw: ?
) FoR1g: {dh y=afa 2

YoX2=1

1X2=2

1X2=2

YoX2=1

1X2=2

1X2=2

1X4=4
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(3) FHEGHT: & BrRRw A Hdf ?
(4) fae: 4f1ep: B 3rpu 2
5) ™ SR Tya: ?

TY 16 SUITRITRAIB I FURI Hedd — 1X4=4
2 faU 7T Il 1 Iferd e Sifou
Match the verses given below appropriately
2] RE|
Tifd el qul A1 7 AT TR gEyq
T o fau ERRGIEERSER|
QRAGRIT J T o= TREITT YTH
I ey & NIESACOIRSNEE

TY 17 HoNTd: Ygferauer ferar sellfeiRIa=aind 3 qRR@ g: forad - 15X 4=2
TSN  Ifrd e FABR HHIIRIT Ialldh & 3+ Dl R JH: ferd

Choose the appropriate word from the box and fill in the context of the following verse and

rewrite it.
3fa: — Q! (1) & ARAA | (2) NPT YTH A=A | ! 94 (3) A=A | MBTHT (4) RG: TR
3faT
3fTT: - (1) gRyeat AT I (2) Wi | ST 3 9UT 9 (3) YHINTH, foied He:
UTYTURIUSY (4) Y@ERT faefiad |
T 18 SHNIRIADHYT HooNT! Vedue: RedH1H qRfAdr : ferad- 15X10=5

oo H U 70 wreal ¥ Rad =i W:ﬁ%ﬁﬂ%%ﬁﬁgﬁ T -

Rewrite the story below by filling in the blanks with the words given in the box:

THH TR Uh: (1) YD: | T g Uh: WIHHI: IR gfgoi: Yddb: qyd| T: 4HH
ST 31&RTT: U, TR W-gfG-TaN Halfy 7 =i THie fead ufHd: a® S9ud (2)
AU QA BT | T: Td01 il (3) STUlaRel Sgedl Aaid ¥ | STula¥dr AN v Faafd
At YA ST | Fehiel 4 idh: dafd ¥ 'R 6! foh PIST Shvfad daum afd 2 HE &
T (4) TGN TG 31" dd: YHHE Jd: "HIpR-RMIDH" 3] YA HYUTfd ¥ Y:
JdHUHITERU d Mad HoouT FIE (5) R0l Sgeal Al | (6) adh: YRITeRIST T |
Ud E¥al el o Y It gafd W HI T T & F SR I Siia QRabUT SG e Ud ST
SR IR TRl T S 3R o aefa W1 TUTe T T (7) 3R U < U GRapu
59T 9 BN | A1 9d gl 3fagq | Rad: 4fHd: (8) W SHyd SHHYT I-"HI WIHYeH | g7
3R, HW Haq o T 3fd | TeT J: Hadh: Fiefd afg: Tl hoieid T HV hedl AR T=dq | Tdq
AN T YHd: WA g% Sarsaq|

TeT: - " (9) YA -, Shifdd SR | YT Wi, aifor srifor (10) fa=afd 1|
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